@ Ul ¥ P

Eksponentit 10

Nimi:

6x 10 =
4,8+ 10° =
7,64+ 10° =

—2x10° =

8x10=

Paivimaara:

7,19 x 10* =

2% 10° =

7x10° =

6x10° =

3% 10° =

10° =

1,22+ 10° =

10° =

2% 10% =

8 x10° =
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@ U ¥Wer®P

Eksponentit 10

Nimi:
10° = 1000000
5% 10% = 500
10° = 1000
9,83 + 10* = 0.000983
6 x 10 = 60
4,8+ 10° =0.0048
7,64+ 10* = 0.0764
—2 x 10° = —2000
10° = 1000000

8 x 10 = 80

Paivamaara:
7,19 x 10* = 71900
2 x 10° = 200000
7 x 10° = 7000
6x10° =6
3 x 10° = 300000
10° = 1000
1,22+ 10 =0.0122
10° = 1000
2 x 10* = 200

8 x 10° = 8000
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